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Exam 3
Chapters 4.6-4.8 and 5

Short Answer
Answer the following questions. You must show your work to veceive full credit. Be sure to make
reasonable simplifications. Indicate your final answer with a .

1. (10 points) You are trying to fence in a rectangular garden along the side of your house with
100 meters of fencing. Assuming that one of the sides of the garden is your house, what is the
maximum area that you can fence in?
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2. (10 points)Find [ 1.4 ¢ — 1225 4 § sin(z)da.
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3. (5 points) Find the area between the curve f(z) = 3z% + 2z and the x-axis between = = 2 and
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4. (5 points) A pool is draining at a rate of =% litres per minute. How much water will drain
from the pool in the first hour?
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5. (10 points) A partlcle is moving along a straight line with acceleration at time ¢ given by
a(t) = cos(3wt) — -'r meters per second?. Given that initial velocity v(1) = —12 meters per second
and initial dlspl'lcement s(1) = 0 meters, find the displacement for the particle as a function of t.
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6. (10 points) Find fé’ a2 dz.
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Bonus Question: (10 points) Find % where

y=/ e + In(t® -+ 1)dt.
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